N & 0l & At
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A (=XEH ALY 23 H) ?HA)
M. o (BH) - HSAY - BAS ﬁlf& HD=2
317,774 326,830 A 9,056
HdE NEEE 25 130,790 135,877 N5,087
A (=AY SEIH) 130,790 135,877 N5,087
FEX ©H 130,790 135,877 N5,087
2,836 2,454 382
2ZANSES 2,836 2,454 382
O3g=Xd st38Hl o2
118, 130& 22 x 1H »12& 2,836
29| 107,954 113,423 A5,469
2l Hl 46,900 37,400 9,500
28t~ 2 H| 3,500
Il = gl 300,000& *10H 3,000
FAAHE S S8HES2HE H &
300,000& =154 4,500
O FXAHE 228 HE 50& =100, 0000H 5,000
O =81 MEelg XM HE
80,0003 *30&f A 2,400
O Z2gH EH7Y 200,000& *53] 1,000
O £ s, o458, &322 500
O F=X2X ctetE 2 25,000& *300H 7,500
O nNsEdA 2Heol g 2 20,000& *507H 1,000
O nNsS&EA ZHS AWM F&
10,000& *50H 500
O FX2A MEREE 78 &X
30,000& = 1004 3,000
O FX2X (0ls4A!) EXT 500,000& =204 10,000
O SLHI(XZH, AEAH) 5,000
02 3294l 61,054 76,023 A 14,969
03322 % MA 25,102
DE2 DA REES(SIE)
1,930& *10,0000H 19,300
EHE DXA SELS (L8
3002 x10,0000H 3,000
= XA 500, 000& *2CH 1,000
SINEEREEZ 100, 0003 *2CH 200
HIIZEAN =2 50,000& =2CH 100
Si EEg= 750,980& «2CH 1,502
&Hl = XYl 1,000
A& E XY 500, 000& =24 1,000
| 12,000
PNE=E =N 4,500, 000& =2CH 9,000
EEF RNl 1,500, 0002 *2CH 3,000
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Hu: OMGID Hels MA NEHA 7=
te: SHIE FURS ZH(FUHEAY SE3IA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFF X2 HEHE JtAAHE =HALE |X
g2 150,000& = 12& 1,800
O SAME Z208 AL =4l
250,000 1200 & 3,000
ONEE SYEFEUNLSANLE SN2
1,600, 000& »7CH 11,200
OZHZEX o4& 2N MUlA S4R3
88,0003 +2CH+12& 2,112
OSEFEX o 2EAMAE /X E=
4,200,000& =14 4,200
OFHXLACLUENZE IIAAHI 222
80& +8,000A 640
202 O4dl 20,000 20,000 0
01 = LHA YI 20,000 20,000 0
O2Y=aX N 15,000
OZEF=XE gR=4 5,000
HYR2FZH (DS 186,984 190,953 A 3,969
QEIEH (RSN (=UHEAY SE3H) 186,984 190,953 A 3,969
lARHH|(FXUHESE3IAH) 186,984 190,953 A 3,969
101 14l 186,984 190,953 A 3,969
03 RIAHAZ 2R 186,984 190,953 A 3,969
OFFX &2 (4Y) 169,969
2= 1,949,760 x4H x12& 93,589
d2+4 1,949, 760& »4H x100% 7,800
2+ I3 72,5003 x»4H « 128 3,480
HHg Al 130,000& x4 128 6,240
SEIZR+E 100,000& x4H x12& 4,800
ANt 2 e
11,5343 1 . 5x25A| 2hx4H « 128 20,762
s22f+E 92,2743 1 5x4H x25 13,842
YEZIOHHI(E,F4)
1,949,760 & «4H «120% 9,359
S IFE &Y 92,2743 x4H x15 5,537
=g (HRX2, 222, XHH5)
380,000& 122 4,560
C4liEdg = 17,015
I0ASELE S 169,969,000& 4. 5% 7,649
HLBERES 169,969, 000& *3.035% 5,159
LOFIEERES 4,523,000& *6.55% 297
NEBERES 169,969,000& *1.5% 2,550
SMTHEE 169,969,000& *0. 8% 1,360




